At the time of Admission Admission Fee Annual Charges	₹ 2,000.00	One Time	
Annual Charges	(=,000.00		
· ·	₹ 1,300.00	Yearly	
Caution Money	₹ 1,500.00	One Time	₹ 8,150.00
Identity Card	₹ 50.00	Yearly	,
Tuition Fee 1100*3	₹ 3,300.00		
CONVEYANCE	,		
Remaining fee for the session			
Exam. Fee (250*2)	₹ 500.00		
Cultural & Sports fee	₹ 200.00		₹ 10,600.00
Tuition Fee for 9 months	₹ 9,900.00		
CONVEYNCE			
Gran	d total		₹ 18,750.00
Note- Conveyance charges extra, a	s per destination		
At the time of Admission			
Admission Fee	₹ 2,000.00	One Time	
Annual Charges	₹ 1,300.00	Yearly	
Caution Money	₹ 1,500.00	One Time	₹ 8,450.00
Identity Card	₹ 50.00	Yearly	
Tuition Fee 1200*3	₹ 3,600.00		
CONVEYANCE			
Remaining fee for the session			
Exam. Fee (300*2)	₹ 600.00		
Cultural & Sports fee	₹ 200.00		₹ 11,600.00
	₹ 10,800.00		
	1441		
0.13			₹ 20,050.00
Note- Conveyance charges extra, a	s per destination		
At the time of Admission	₹ 2 000 00	On a Time	
•		<u>-</u>	₹ 8,900.00
*			₹ 6,900.00
•		rearry	
	۲ +,000.00		
	₹ 700.00		
, ,			₹ 13,050.00
Tuition Fee for 9 months			•
CONVEYNACE	,		
			₹ 21,950.00
	Remaining fee for the session Exam. Fee (250*2) Cultural & Sports fee Tuition Fee for 9 months CONVEYNCE Gran Note- Conveyance charges extra, a At the time of Admission Admission Fee Annual Charges Caution Money Identity Card Tuition Fee 1200*3 CONVEYANCE Remaining fee for the session Exam. Fee (300*2) Cultural & Sports fee Tuition Fee for 9 months CONVEYNACE Gran Note- Conveyance charges extra, a At the time of Admission Admission Fee Annual Charges Caution Money Identity Card Tuition Fee 1350*3 CONVEYNACE Remaining fee for the session Exam. Fee (350*2) Cultural & Sports Fee Tuition Fee for 9 months CONVEYNACE Remaining fee for the session Exam. Fee (350*2) Cultural & Sports Fee Tuition Fee for 9 months CONVEYNACE	Remaining fee for the session Exam. Fee (250*2) ₹ 500.00 Cultural & Sports fee ₹ 200.00 Tuition Fee for 9 months ₹ 9,900.00 CONVEYNCE Grand total Note- Conveyance charges extra, as per destination At the time of Admission Admission Fee ₹ 2,000.00 Annual Charges ₹ 1,300.00 Caution Money ₹ 1,500.00 Identity Card ₹ 50.00 Tuition Fee 1200*3 ₹ 3,600.00 CONVEYANCE Remaining fee for the session Exam. Fee (300*2) ₹ 600.00 Cultural & Sports fee ₹ 2,000.00 Tuition Fee for 9 months ₹ 10,800.00 CONVEYNACE Grand total Note- Conveyance charges extra, as per destination At the time of Admission Admission Fee ₹ 2,000.00 Annual Charges ₹ 1,300.00 Caution Money ₹ 1,500.00 Identity Card ₹ 50.00 Tuition Fee 1350*3 ₹ 4,050.00 CONVEYNACE Remaining fee for the session <td> Exam. Fee (250*2)</td>	Exam. Fee (250*2)

I,II,III At the time of Admission Admission Fee

me
ly
me
ly ₹ 10,200.00
i

	Magazine		₹ 200.00	Yearly	
	Smart Class Fee 100*3		₹ 300.00	Monthly	
	Tuition Fee 1550*3		₹ 4,650.00	•	
	CONVEYNACE				
	Remaining fee for the session	<u>1</u>			
	Exam. Fee (500*2)		₹ 1,000.00		
	Cultural & Sports Fee		₹ 200.00		₹ 16,050.00
	Smart Class Fee for 9 months		₹ 900.00		(10,000.00
	Tuition Fee for 9 months		₹ 13,950.00		
	CONVEYNACE	0			
	Note- Conveyance charges e	Grand total	nation		₹ 26,250.00
	Note- conveyance charges e	kira, as per desti	iation		
IV,V	At the time of Admission				
	Admission Fee		₹ 2,000.00	One Time	
	Annual Charges		₹ 1,500.00	Yearly	
	Caution Money		₹ 1,500.00	One Time	
	Identity Card		₹ 50.00	Yearly	₹ 10,950.00
	Magazine		₹ 200.00	Yearly	
	Smart Class Fee 100*3		₹ 300.00	Monthly	
	Tuition Fee 1800*3		₹ 5,400.00		
	CONVEYNACE				
	Remaining fee for the session	<u>1</u>			
	Exam. Fee (550*2)		₹ 1,100.00		
	Cultural & Sports Fee		₹ 200.00		₹ 18,400.00
	Smart Class Fee for 9 months		₹ 900.00		(10,400.00
	Tuition Fee for 9 months		₹ 16,200.00		
	CONVEYNACE				
	Grand total				₹ 29,350.00
	Note- Conveyance charges e	xtra, as per desti	nation		
VI,VII,VIII	At the time of Admission				
	Admission Fee		₹ 2,000.00	One Time	
	Annual Charges		₹ 1,500.00	Yearly	
	Caution Money		₹ 1,500.00	One Time	
	Identity Card		₹ 50.00	Yearly	₹ 12,450.00
	Magazine		₹ 200.00	Yearly	
	Smart Class Fee 200*3		₹ 600.00	Monthly	
	Tuition Fee 2200*3		₹ 6,600.00		
	CONVEYANCE				
	Remaining fee for the session	<u>1</u>			
	Exam. Fee (650*2)		₹ 1,300.00		
	Cultural & Sports Fee		₹ 200.00		# 22 400 00
	Smart Class Fee for 9 months		₹ 1,800.00		₹ 23,100.00
	Tuition Fee for 9 months		₹ 19,800.00		
	CONVEYNACE				
		Grand total			₹ 35,550.00
	Note- Conveyance charges e	xtra, as per desti	nation		
IX	At the time of Admission				
-	Admission Fee		₹ 2,000.00	One Time	
	Annual Charges		₹ 2,000.00	Yearly	
	Caution Money		₹ 1,500.00	One Time	
	Identity Card		₹ 50.00	Yearly	
	•			=	₹ 16,350.00
	Magazine		₹ 200.00	Yearly	₹ 10,350.00

	Grand total With C	omputer		₹ 57,250.00
	CONVEYNACE	.		
	Tuition Fee for 9 months	₹ 29,700.00		
	Computer Fee if computer subject taken	₹ 2,250.00		
	Cultural & Sports Fee	₹ 200.00		₹ 35,050.00
	Laboratory Fee (750*3)	₹ 2,250.00		Without Computer
	Library Fee (300*3)	₹ 900.00		₹ 37,300.00
	Exam. Fee (1000*2)	₹ 2,000.00		With Computer
	Remaining fee for the session			
	CONVEYNACE			
	Computer Fee (if computer subject taken)	₹ 750.00		
	Tuition Fee 3300*3	₹ 9,900.00		
	Board Registration Fee	₹ 1,500.00	One Time	
	Laboratory Fee (for first Quarter)	₹ 750.00	Quarterly	
	Library Fee (for first Quarter)	₹ 300.00	Quarterly	
	Magazine	₹ 200.00	Yearly	·
	Identity Card	₹ 50.00	Yearly	₹ 19,200.00
	Caution Money	₹ 1,500.00	One Time	Without Computer
	Annual Charges	₹ 3,000.00	Yearly	₹ 19,950.00
	Admission Fee	₹ 2,000.00	One Time	With Computer
ΧI	At the time of Admission			
	inote- Conveyance charges extra, as per de	รอนเเลนIVII		
	Note- Conveyance charges extra, as per destination			₹ 41,350.00
	Grand tota			<i>₹ /</i> 11 2E0 00
	Computer Fee for 9 months Tuition Fee for 9 months	₹ 1,800.00 ₹ 22,500.00		
	Cultural & Sports Fee	₹ 200.00 ₹ 1.800.00		₹ 27,500.00
	Pre-Board Exam. Fee (1000*3)	₹ 3,000.00		
	Remaining fee for the session	₹ 2 000 00		
	Demoining for for the coories			
	Tuition Fee 2500*3	₹ 7,500.00		
	Computer Fee 200*3	₹ 600.00		
	Board Examination Fee	₹ 1,500.00	One Time	
	Laboratory & Library Fee	₹ 2,000.00	Yearly	₹ 13,850.00
	Magazine	₹ 200.00	One Time	
	Identity Card	₹ 50.00	Yearly	
	Annual Charges	₹ 2,000.00	One Time	
X	At the time of Admission			
	Note- Conveyance charges extra, as per de			(1 2,730,00
	Grand tota	nl		₹ 42,450.00
	CONVEYNACE	< ZZ,000.00		
	Tuition Fee for 9 months	₹ 22,500.00		
	Computer Fee for 9 months	₹ 1,800.00		₹ 26,100.00
	Exam. Fee (800*2) Cultural & Sports Fee	₹ 1,600.00 ₹ 200.00		
	Remaining fee for the session	₹ 4 COO OO		
	CONVEYNACE			
	Tuition Fee 2500*3	₹ 7,500.00		
	Computer Fee 200*3	₹ 600.00		
	Board Registration Fee	₹ 500.00	One Time	
	Laboratory & Library Fee	₹ 2,000.00	Yearly	
		T 0 000 00	., .	

Grand total Without Computer

₹ 54,250.00

₹ 51,750.00

Note- Conveyance charges extra, as per destination

XII At the time of Admission	on
------------------------------	----

Annual Charges	₹ 3,000.00	Yearly	With Computer
Identity Card	₹ 50.00	Yearly	₹ 16,450.00
Magazine	₹ 200.00	Yearly	Without Computer
Library Fee (for first Quarter)	₹ 300.00	Quarterly	₹ 15,700.00
Laboratory Fee (for first Quarter)	₹ 750.00	Quarterly	
Board Examination Fee	₹ 1,500.00	Yearly	
Tuition Fee (One month) 3300*3	₹ 9,900.00		
Computer Fee (One month) if computer subject tak	₹ 750.00		
CONVEYNACE			
Remaining fee for the session			
Pre-Board Exam. Fee (1000*3)	₹ 3,000.00		With Computer
Library Fee (300*3)	₹ 900.00		₹ 38,300.00
Laboratory Fee (750*3)	₹ 2,250.00		Without Computer
Cultural & Sports Fee	₹ 200.00		₹ 36,050.00
Tuition Fee for 9 months	₹ 29,700.00		
Computer Fee 9 months, if computer subject t	₹ 2,250.00		
CONVEYNACE			
Grand total With Co	mputer		₹ 54,750.00

Note- Conveyance charges extra, as per destination

Grand total Without Computer